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202145 H 1 H {5 /K A F vk = 109 7.6 5. 207
202145 H 2 H |15 /K A F vk & 110 7.6 4, 838
202145 H 3 H|¥5 7K Ab B = 114 7.6 4,983
202145 H 4 H V5 K Ab 3k 2 112 7.6  5.368
202145 A5 H|V5 7K AL FE ik s 127 7.6  4.652
202145 H 6 H |15 7K A F vk = 110 7.6 6.472
202145 H 7H |15 /K A F vk & 112 7.6] 6.480
202145 H 8 H |15 /K b Bl = 99 7.6 6. 121
202145 H 9 H [V5 K b 3k = 99 7.6  6.084
202145 H 10 H [75 7K b b P 108 7.6  6.722
202145 H 11 H |75 7K Ab vk = 100 7.6 6.513
202145 H 12 H [75 7K b ik & 107 7.6 6. 285
202145 H 13 H|[¥5 /K b Bk P 89 7.6 6. 193
20214E5 H 14 H | V5 K A 33k & 96 7.6 5.833
20214E5 A 15 H |75 K db F 35 = 99 7.6 4.142
202145 H 16 H [75 7K Ab vk = 100 7.6 5. 301
202145 H 17 H |75 7K b ik = 84 7.6 5. 531
202145 H 18 H |[¥5 /K &b B i = 90 7.6 6. 744
20214E5 H 19 H V5 /K b #i vk & 99 7.6  5.955
20214E5 H 20 H |5 /K b # vk = 90 7.6l  7.116
202145 H 21 H 75 7K Ab vk = 85 7.6 6. 436
202145 H 22 H 75 7K b i ik = 80 7.6 7. 348
202145 H 23 H |[¥5 /K b Bk = 88 7.6 6. 595
20214E5 A 24 H |5 K A FH 355 = 84 7.6| 7.320
20214E5 H 25 H|V5 /K b #i vk & 95 7.6  7.309
202145 H 26 H [75 7K b vk = 102 7.6 6. 958
202145 H 27 H |75 7K b vk & 102 7.6 7.727
202145 H 28 H |15 /K Ak B i = 90 7.6 6. 969
20214E5 H 29 H |5 /K b #i vk & 95 7.6  6.693
20214E5 H 30 H |5 /K b #i vk = 96 7.6  6.762
202145 H 31 H |75 7K b vk = 100 7.6 6. 381
3071 6. 227
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